



пять дробей, порядок действий со скобками

Имя: _____

Дата: _____ Оценка: _____

$$\left(\frac{1}{5} - \frac{3}{2}\right)^2 + \frac{1}{2}\left(\frac{1}{6} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(4 + \frac{1}{5}\right)^2 + \frac{1}{4} + 3^2 \times \frac{1}{4} =$$

$$\left(5 + \frac{1}{5}\right)^2 - \frac{1}{2} - 5^2 - \frac{1}{3} =$$

$$\left(\frac{1}{5} - \frac{1}{3}\right)^2 + \frac{1}{4}\left(\frac{1}{3} - \frac{1}{2}\right) =$$

$$\left(\frac{3}{4} - \frac{2}{5}\right)^2 - \frac{1}{3}\left(\frac{1}{5} - \left(\frac{3}{5}\right)^2\right) =$$

$$\left(\frac{1}{2} - \left(\frac{1}{2}\right)^2\right) \times \frac{3}{2} - \left(\frac{1}{2} - \frac{2}{5}\right)^2 =$$

$$\left(\frac{1}{2} + \frac{1}{3}\right)^2 + \frac{1}{3}\left(\frac{1}{5} - \left(\frac{1}{3}\right)^2\right) =$$

$$\left(3 - \frac{3}{5}\right)^2 - \frac{2}{5} - \frac{1}{4} \times 3^2 =$$

$$\left(3 + \frac{2}{5}\right)^2 + \frac{3}{4} - 3^2 - \frac{1}{2} =$$

$$\left(\frac{1}{4} + \frac{2}{3}\right)^2 + \frac{1}{3}\left(\frac{1}{4} + \frac{2}{5}\right) =$$



Имя: _____

Дата: _____ Оценка: _____

$$\left(\frac{1}{5} - \frac{3}{2}\right)^2 + \frac{1}{2}\left(\frac{1}{6} + \left(\frac{1}{2}\right)^2\right) = \frac{1139}{600} = 1\frac{539}{600}$$

$$\left(4 + \frac{1}{5}\right)^2 + \frac{1}{4} + 3^2 \times \frac{1}{4} = \frac{1007}{50} = 20\frac{7}{50}$$

$$\left(5 + \frac{1}{5}\right)^2 - \frac{1}{2} - 5^2 - \frac{1}{3} = \frac{181}{150} = 1\frac{31}{150}$$

$$\left(\frac{1}{5} - \frac{1}{3}\right)^2 + \frac{1}{4}\left(\frac{1}{3} - \frac{1}{2}\right) = \left(-\frac{43}{1800}\right)$$

$$\left(\frac{3}{4} - \frac{2}{5}\right)^2 - \frac{1}{3}\left(\frac{1}{5} - \left(\frac{3}{5}\right)^2\right) = \frac{211}{1200}$$

$$\left(\frac{1}{2} - \left(\frac{1}{2}\right)^2\right) \times \frac{3}{2} - \left(\frac{1}{2} - \frac{2}{5}\right)^2 = \frac{73}{200}$$

$$\left(\frac{1}{2} + \frac{1}{3}\right)^2 + \frac{1}{3}\left(\frac{1}{5} - \left(\frac{1}{3}\right)^2\right) = \frac{391}{540}$$

$$\left(3 - \frac{3}{5}\right)^2 - \frac{2}{5} - \frac{1}{4} \times 3^2 = \frac{311}{100} = 3\frac{11}{100}$$

$$\left(3 + \frac{2}{5}\right)^2 + \frac{3}{4} - 3^2 - \frac{1}{2} = \frac{281}{100} = 2\frac{81}{100}$$

$$\left(\frac{1}{4} + \frac{2}{3}\right)^2 + \frac{1}{3}\left(\frac{1}{4} + \frac{2}{5}\right) = \frac{761}{720} = 1\frac{41}{720}$$